Appendix

Cosine Similarity
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where:
TF*IDFij is the weight of term j in document i





N is the number of documents in the data base





docfreqj is the number of documents term j occurs in





freqij is the frequency of occurrence of term j in document i




mostfreqi is the frequency of the most frequently occurring






term in document i 

Normalized Recall
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Recallnorm = 1 -




    rel (N – rel)




where:  rel is the number of relevant documents





N is the number of documents in the database

